1. Using an 8-bit allocation, first convert each of the following numbers to two's complement, do the operation and then convert the result to decimal.

a. 19+23 
b. 19-23 
c. -19+23

d. -19-23

2. Which of the following operations creates overflow if the numbers and the result are represented in 8-bit two's complement notation?

a. 11000010+00111111
b. 00000010+00111111

c. 11000010+11111111

d. 00000010+11111111

3. Show the result of the following operations assuming that the numbers are stored in 16-bit two's complement representation. Show the result in hexadecimal
notation
a. x012A + x0E27

b. x712A + x9E00

c. x8011 + x000l
d. xE12A+x9E27
4. Show the result of the following floating-point operations. First convert each number to binary notation and do the operation; then convert the result back to decimal notation.

a. 34.075+23.12
b. -12.00067+451.00
c. 33.677-0.00056 
d. -344.23-123.8902
5. Show the result of the following operations:

a. NOT x99

b. NOT xFF

c. NOT x00

d. NOT x01
6. Show the result of the following operations: 
a. x99 AND x99

b. x99 AND x00
c. x99 AND xFF

d. xFF AND xFF
7. Show the result of the following operations:

a. x99 OR x99
b. x99 OR x00

c. x99 OR xFF
d. xFF OR xFF
8. Show the result of the following operations: 
a. x99 XOR x99
b. x99 XOR x00

c. x99 XOR xFF
d. xFF XOR xFF
9. Show the result of the following operations: 
a. NOT (x99 OR x99)

b. x99 OR (NOT x00)

c. (x99 AND x33) OR (x00 AND xFF)
d. (x99 OR x33) AND (x00 OR xFF)
